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2020
COMMERCE

Accounting Theory and Financial Accounting
[HONOURS]
Paper — H-1
[OLD SYLLABUS]
Full Marks : 100

The figures in the right-hand margin indicate marks.

Time : 4 Hours

Candidates are required to give their answers in
their own words as far as practicable.

GROUP-A
e -3
(Accounting Theory)
(Marks : 25)
1.  Answer any three questions: 1x3=3

@i Foafs e Tex s ¢
1)  Fill in the blank :

HE 79 9 ¢

Capital Employed=Own Capital+Loan Capital

[Turn over]
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ffere Jergm=faey Yeaa+adFe Jeae

Fill in the blank:
HTEl 79 < ¢

A claim for income tax refund is a current

State true or false:
Ao A T TG 74 8

The accounting equation according to the Fund

Concept is
Total Assets=Total Liabilities
(5 7516 = (G wIw

The amount spent on advertisement of a new

product is —
a) capital expenditure
b) revenue expenditure

c) deferred revenue expenditure
G Tge siof ReaI=ta A 2 2
a) EHEETSI
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b) YARFESI W
c) Tefxs JERFETe I

v)  Name two concepts of accounting.
AR 90 QiR ST 9 |
2.  Answer any three questions: 2%x3=6

- Toxit 2w Teg 7ie ¢

i)
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The relation between capital and income is
similar to that of a tree and its fruits. Explain
briefly.

SETKE S SR A™AE GFD 911% € O T TS |
— CHCA RIS |

Write any two examples of capital expenditure.
TEEETOR A @~ 76 SvRRel vis |

Name the three accounting assumptions in

preparation of accounts.
2N &S S IR ToA(b Sl T 77 |

What do you mean by the doctrine of

consistency?
NS eIM o0 6 @2

Mention any two points of difference between

expense and loss.

F6 8 o T @~ 90 o112 S 77|
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3.  Answer any one question: 6x1=6

@~ OF6 AT TEI WS ¢

i)

What do you mean by maintenance of capital?
Explain briefly the various concepts of

maintenance of capital. 2+4

SETAE LT 60 [ (I 2 SETH AL
fafen giell Feaeest i 9 |

Write short notes on (any two):
a)  Fund concept

b) Doctrine of conservatism
c) Matching Principle
TR TR @12 (- viH) ¢
a) O2RE qFell

b)  TERIETSl oM

c) e Fife

4.  Answer any one question: 10x1=10

@~ @6 20T TeF TS ¢

i)

43(C)0S

Mention the features of capital. Discuss the

accounting concept of capital. 3+7
ER (ARl T 39 | fRarRimz Jeide
TR Iel] FTAATE S 4 |

[4]



ii)

iii)

Discuss 'Stock' and 'Flow' concept of Capital.
TAAER 55 S “ @I Q1] FefeT 9 |

Define accounting theory. State the advantages

and limitations of accounting theory.  2+8

g ke wie | e Raief ¢
ArTREeiefe Srae 4 |

GROUP-B
R -4
(Financial Accounting)

(Marks : 75)

5. Answer any five questions: 1x5=5

@I Ao 2ras Tea Wi ¢

i)

iii)

43(C)0S

If cost of goods sold is 60,000 and ratio of
gross profit to sales is 25%, then calculate

sales.

BTG & 72 |

What is hire purchase?
oeie 52

Fill in the blank:
HE 79 9 ¢
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Vi)
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An is a tangible object or an

intangible right owned by an enterprise and

carrying probable future benefits.

5 A0 R I8 WL A0
SR S T 96 ef SR TiETmaEe
F AR M SfFre Ay 720 FF |

State true or false:
A A A IS 79 2

Depreciation on a fixed asset is a provision

for maintenance of capital.

I oI GT Tod I3 Z&1 oT4 TR Tl
ARG FEZ |

A bill of exchange is drawn for 3 months on
12th May, 2016. What will be the due date of
bill? (14th August, 2016 falls on sunday)

2AG o (71 |
State true or false:

Ao 31 ge1 a9 ¢

Account Sales is the statement sent by the

consignor to the consignee.

R = @i [ A ooy (@7 SAoy-
AT 6 (299 FE |

[6]



vii) Write the journal entry for mechinery supplied

by a co-venturer when separate set of books

for the joint venture is maintained.

3AG 2 (71 |

6.  Answer any six questions: 2x6=12

@@ w10 AT T 118 ¢

i)

ii)

iii)

43(C)0S

What is 'Average Clause' in insurance claim?
TS MIRATS ‘ofE *1$° fF 2

If the total interest which is 20% of Hire-
Purchase Price, amounts to 10,000, then

calculate the Cash Price.
LA o (7 |

E and F are partners sharing profits and losses

1
in the ratio of 7: 3. They admit C for 5 th share

of profit which he takes equally from E and F.

Calculate the new profit-sharing ratio.
BAG 2l (74 |

What do you mean by Revenue Reserve?
TAFETOR A% T T @Ri2

Give one example of an error of principle.

Tifoore R @b Twizgel wie |
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Vi)

What is meant by Statement of Affairs?

wifefs RER =@ Tece & @R e

vii) What are the different types of accounting.

fen oias ol [ 52

7.  Answer any three questions: 6x3=18

@A~ Toalt 2w Teg 7ie ¢

i)

43(C)0S

From the following information calculate the
Cash Price:

Down payment : ¥8,000
Rate of interest : 5% per annum
Hire-purchase instalments at the end of:
Ist year - 34,000
2nd year - 33,000
3rd year - ¥7,000
BAG 2l (74 |

On 01.06.2016, Q draws a bill of exchange
payable after 3 months and R accepts it for
mutual accomodation. As per agreement,
money is to be shared by Q and R in the ratio
of 2: 1. R discounts the bill immediately @6%
per annum, the discounting charges being

¥300. R remits the requisite amount to Q. On
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iii)
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due date Q remits his share to R who duly
honours the bill. Pass journal entries in the
books of R.

3AG 2 (71 |

A partner has withdrawn the following sums
of money during the half year ended on 30th
September, 2016:

4
Ist May 4,000
18th May 400
3rd July 100
17th September ?

The average due date is 15th June. Calculate

the amount drawn on 17th September.
TRAG! &5l o2 |

In drawing out a Trial Balance, a book-keeper
finds that he is having 3160 excess debit. Being
desirous of balancing his books, he placed the
difference to a Suspense Account which is

carried forward. Later he discovers that:

a) acredit item of ¥1,940 has been debited
to the personal account of K as ¥1,580;

[9] [Turn over]
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b) 1,900 written off against Fixtures as
depreciation has not been posted to

Depreciation Account.

c) 30,000 paid for furniture purchase has
been charged to the ordinary Purchases

Account.

d) A discount of ¥740 allowed to a
customer, Z has been credited to him as
%1,460;

e) Total of the Inward Returns Book has
been added short by %20, and

f)  an item of sale for ¥1,180 was posted
as ¥1,900.

Pass rectification entries.

2AG o (71 |

M and N are partners sharing profits and losses
in the ratio of 2 : 1 and drawings being made in
the same proportion. On 01.04.2015, the
capital of the partnership was 34,20,000 of
which %2,40,000 stood to the credit of M and
the balance amount to the credit of N. On
31.03.2016, the following information was

furnished:
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a) The total combined capital was
¥5,82,000.

b) N has drawn 6,000 in excess of the

arranged proportion of drawings.

¢) N had to be credited with 330,000 as

salary.

d) The partners were entitled to interest on
capital @10%.

Prepare a Profit and Loss Appropriation
Account for the year ending 31.03.2016.

3AG 2 (71 |

8.  Answer any four questions: 10x4=40

@~ oS 2rid Ted TS ¢

)
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Write notes on (any two):

BIel (@12 (- (RIeeT! fB) ¢
a)  Claim against Loss of Profit Insurance
IAIF-FRS R Wi

b) Stock and Suspense Method of

accounting for Packages

qIRAAGT ARTFER Age-faeifae
Ao

c¢) Users of accounting information

AR ©F JIRTFA
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On 21.01.2016, C of Mumbai forwarded to
his agent D of Kolkata a consignment of 25
chests of Indigo @310,200 per chest, paying
¥3,000 for freight. On 18.03.2016, C received
an Account Sales dated 20.02.2016, showing
that the goods had realised ¥3,00,000
including ¥1,00,000 sold on credit and the

following expenses had been incurred:

3
Dock dues and insurance 2,000
Storage 600
Cartage 500
Railway freight 1,900
Commission 3%
Delcredere commission 2%

One customer owing 4,000 failed to pay
because of insolvency; another customer
deducted 3,000 because of dispute regarding
quality.

C enclosed a bill at three months for the
amount due.

Prepare Consignment to Kolkata Account and
D's Account in the books of C.

2AG o (71 |
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iii)) A firm has two departments— cloth and

readymade clothes. The readymade clothes are
made by itself out of cloth supplied by the
cloth department at its usual selling price.
From the following information, prepare
Departmental Trading and Profit & Loss
Account for the year ended 31st March, 2016:

Cloth Readymade

Department | Clothes Department

4 54

Opening stock on 01.04.2015 6,00,000 1,00,000

Purchases 40,00,000 30,000

Sales 44,00,000 9,00,000
Transfer to Readymade

Clothes Department 6,00,000 -

Manufacturing expenses - 1,20,000

Selling expenses 40,000 12,000

Stock on31.03.2016 4,00,000 1,20,000

43(C)0S

The stock in the readymade clothes department
may be considered as consisting of 75% cloth
and 25% other expenses. The cloth department
earned gross profit @15% in 2014-15.
General expenses of the business as a whole
came to ¥2,20,000.

3AG 2 (71 |
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iv) X company which depreciates its machinery

43(C)0S

@10% per annum on Diminishing Balance
Method, had on 01.04.2013 9,72,000 to the
debit of Machinery Account. During the year
2013-14, part of the machinery purchased on
01.04.2013 for %80,000 was sold for
345,000 on 01.10.2013 and a new machinery
at a cost of ¥1,50,000 was purchased and was
installed on the same date, installation charges
being ¥8,000. The company wanted to change
its method of depreciation to Straight Line
Method with effect from 01.04.2011 and
adjust the difference in the accounts for the
year 2013-14. The rate of depreciation

remains the same as before.

Show the Machinery Account for the year
ended 31.03.2014.

2AG o (71 |
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X, Y and Z were partners sharing profits and
losses in the ratio of 2:2:1. They dissolved

their firm when their Balance Sheet stood as

follows:
Liabilities T | Assets 4
Capital Accounts: Sundry Assets 1,94,000
X 82,000 Cash at Bank 10,000
Y 52,000 [ 1,34,000 | Z's Capital
General Reserve 30,000 | Account (Dr.) 16,000
Creditors 66,000 | Profit and Loss A/c(Dr. 10,000
2,30,000 2,30,000
Sundry assets realised ¥1,80,000 and the
creditors were discharged at a discount of
¥4,000. The expenses of dissolution
amounted to ¥4,000. Z was declared insolvent
and a final dividend of 50% was realised from
his private estate. Prepare Realisation
Account, Bank Account and Partners' Capital
Accounts applying Garner vs. Murray rule.
BAGT 2l O72 |
vi) The accountant of G ascertained the business
profit but due to his lack of knowledge a
43(C)0S [15] [Turn over]

number of discrepancies have crept in. The
Trading and Profit & Loss Account prepared
is by him for the year ended 31st March, 2017

as follows:

Trading and Profit & Loss Account
(For the year ended 31st March, 2017)

Dr. Cr.
Particulars 54 T | particulars 4 4
To Closing stock 12,000] By Balance b/d 40,000
To Purchases 80,000| By opening stock 10,000
To Wages 15,000] By sales 1,40,000
To Salaries 18,000] By Carriage outward |4,500

To Export duty 14,000 Less:Carriage Inward [ 3,500 1,000

To Interest on

Less:Import duty 12,000 2,000

Bank Loan 4,500 on Purchases 3,000
To General Expenses| 14,000] Less:Cash discount
To Depreciation on allowed 200 2,800
Office Furniture 11,000
To Selling Expenses 13,000
To Net Profit 24,300
1,93,800 1,93,800

By Trade Discount

43(C)0S

Draft the above account properly assuming that

all amounts are correct.

2AG o (71 |
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